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The figures in the margin indicate
Jull marks for the questions.

Answer either in Ehglish or in Assamese.

1. Answer the following quesﬁons : 1x8=8
- e i e B o 5
(a) What is supply?
i

(b) Mention one cause of shift in demand
curve.
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(c)

GST is a/an (direct/indirect) -
- tax. -
o Secst AR Oferedr & .
~ GST [t p— (W/W) |
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(e)

)

Choose the correct answer :

Mentlon one canon of taxation as given

by Adam Smith.

Wﬁwﬂaarwaﬁ@qahﬁ%ﬁs?
Fill in the blank :

-NDP at factor cost is

Income/Natienal Income). '
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What is ‘ex-ante’ savings ?.
ex—ante w%eq B2

Write True or False E

When demand is perfecﬂy- inelastic,
elasticity. of demand (eg) is zero.

g (o wom FRrs
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(Domestic -

. (h) What is the main cause of

unemployment according to Keynes ?

Wwﬁmmﬁ:ﬁwqﬁs?

Answer any svc of the following questlons :

2x6=12

wots fwal Rigeret Zabl e Tes foral 8

(@)

(b)

(c)

(@)

What is opportunity cost? Give a
suitable example.

S 8 R @6l Sege Taizad fa

Write two key characteristics of .
monopoly that distinguishes it from
perfect competition. . ‘
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Define ‘primary deficit’.

e Qb ke Bl .

Why is production possibility curve
(PPC) concave to the origin ? Explain.

" Bestv STerwe! Gt (PPC) R ofka o
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' (e) -Po;int;_;out two -differences between
' capital accounts and current accounts
‘of balance of payments.

WW%@&&ﬁWBﬁ_ﬁﬂ%
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i) Deﬁne producers’ surplus

' %&W?ﬁ?ﬂ\w G

(g) Suppose GDP is Rs. 5 000. Domestic
. _.residents recelve factor payments from
_abroad of Rs. 250. Foreigners receive

Rs. 100 as factor payment from this -

country. What is the value of GNP?

TS Rs. 5,000 mGDplmmﬁm
R #™i-Rs. 250 mwwﬁm

«% o7+ 4l Res. 100 =& 3| GNP 331
o 230

(") Define multiplicr.
R R o

() Mention any two reasons behind shift

in aggregate demand (AD) curve.

fEE IR (AD) @R ZNIeR R 757
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(f) Define purchasmg power panty (PPP)
with example.

WWW & W‘l (PPP) ¥ it Tt |

Answer any four of the followmg questlons

 5x4=20
wﬁmm ﬁmmrwﬁr?‘ra T B 2

(a) D1st1ngulsh between Nat10na1 Income‘
and Domestlc Income

m@nwmﬂwwmﬂaq%«m

(b) State and explain the central problems-
‘of an economy

@2 IR @@nwmmw : |
SRR

'(c) Explaln the charactenstms of perfect
competition.

‘ ﬁ#ﬁﬁ‘wwmwwf |

(d) Explain direct taxes and 1nd1rect taxes
and mentlon two merits and two
demerits of both the ta.xes '
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(e)

(g)

(h)

How is market demand curve derived
if two individuals have different demand
curves for the same product?

'am%%ﬂmmﬁaﬁ%ﬁqﬂﬁm

fermem siftnl ([(2F @ =7, (oS T9i]
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‘Explain average propensity to consume
(APC) and marginal propensity to
consume (MPC) with the help of a
suitable diagram.

TG (olel 299! (APC) OI< lifes coiel eigersl

(MPC) 19l 45! o e oas 7=iwe il <1 |

Distinguish between Elasticity of
Taxation and Buoyancy of Taxation.

e FEfozIPTel O 99 AIROF 1Ly

oyl |

Derive the formula of income elasticity
of demand. If income elasticity of
demand is negative, what does it
signify ?
Siftvis =i RfezrieoR qa Fdfe w4 af
e i
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Answer any two of the folloWing questions :

10x2=20

wete fwal et gor 249 Ted forall 8

(@)

(b)

State and illustrate the law of demand
using demand schedule and demand

curve. What are the exceptions of the
law of demand ? 6+4=10

oifzwl K1 =il | Sifew sepph) st wifgwl @=is
%m%@mﬁmﬁﬁamwm&mﬁfwm

Describe Keynes’ General Theory of

Employment and Income with the help
of a diagram.

- oud TS @ﬁﬂ%ﬁmﬁwwm

wgo e |

Narrate the steps involved in estimation
of national income by Expenditure
Method of national income accounting.
What are the precautions to be
undertaken in this method ? 6+4=10

AT S ol T3 ormfes [fen Ancwses
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(d) .State the two tonditions of equlhbrlum
-of any firm. Explain "how equlhbrlum
price and output are determined in a
competitive market. What explains the

efﬁcwncy of market equ111br1um ?
2+7+1=10

ﬁmma%&mwm mwﬁzs@
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(e) Ilustrate Progressive, . Regressive and
- Proportional Taxation with diagrams.
4+3+3=10
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